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100 + (13 X 4'/,) : 100 = 13456 : &
100 1: 100 13456 < 2
i 013456 ol X X — 8489 11/, . 1p.
100+-(13X%",) 311
Pasnocts-Ta H3WEKAY AaAeHA-TH CyMMA W NPbBOHAUAL-
HATA TJQBHHIA CHCTABAABA ANXBEHWZ Aoxoan 13456 —
84x9 187 .. — 4966 '* 5, rp. TOHl cA Hammpa mO CBpa3-
mbpHocTs :
100+4-(13 X 4'/,) : 13 X 4/, = 13456 : =
139, 13456 ~ 139134562 .
Tr= X !X 2 :—Xf X - —-——5—:4966 l30/3” rp
100 + (13% ? ) 317X 2
§ 106. IIpseonauAina 24AEHUKE O AAAEHH : AHXBEHD
A0X0Ab, MNXB& OTB °/, M BpbMA-TO, BB KOETO CA e HaMupaIa
| IAaBHANA-TA MOAB AXB&, onpbabiasa ca mo orwomenie, BB
KOETO 3a NPbBb UAEHb CA 3AMA NpOM3BeAeHie 0T AHXBA s
1 BpbMA-T0, a 32 BTOPH OCHOBHA-TA TJABHMUA.

Npawbps. Ors kakem eaaenuym, Aalend NOAS AUTER
| no 125 Y, %, 30 D z04untt e noxyueno JUTEens A0T0AD
. 38D ep?
Hsacnenie : Tyxs raaBanna-ta nouexe e Ja4exa cb x-
- amo 13 ', °,, 1o cabas 1 roamns ord seakom 100 rp. me
~ cA moAyun no 13 '/, Tp. Auxsems 40X0Ab, a cabaw D roau-
'~ mwmo 13 '/, X B = "%/, rp. a naxs Bb caue-10 BphMA NO-
Hexe e noayveno 38D rp. Auxsend A0XO0AD OTH BOHUKA-TH
riaBunn&, 10 T4 Tph6BA 42 GMAe TOAKOBA ILALTH no-roabma
orb 100 rp., KOIKOTO MATH HeliuHil AMXBEHD A0X0AD 385 rp.
e no-roxbws ors ‘*%, rp. mxsenit 10x04b ors 100 rp., T
we ca pbmn no cvpasmbprocTs :
13"/ ¢ 841100 = 385" 2
100X 385 100Xx385X2
2/,X5 275
TaaBumna-ta 3ae2n0 Cb .IMXBCHHEIL J10X0AD me Omie
570 19/, — 385 = 955 '/, rp. Ta ca mammpa u cava no
chpasnbpHOCTS :

— 570 '°/,, rpoma,



